



名前: _____

日にち: _____ スコア: _____

$$(-7)^{(-2)} - 5 =$$

$$8^2 + 6 =$$

$$(-2)^0 + 2 =$$

$$(-6)^{(-1)} - 9 =$$

$$8^{(-1)} - 5 =$$

$$(-2)^{(-1)} + 1 =$$

$$10 + (-10) =$$

$$(-7)^{(-2)} + 5 =$$

$$2^{(-2)} + 6 =$$

$$1^0 + (-2) =$$

$$(-5)^2 + (-9) =$$

$$6^{(-1)} + (-1) =$$

$$(-4)^{(-1)} - 2 =$$

$$(-9)^{(-2)} + 4 =$$

$$(-8)^{(-2)} - 1 =$$

$$(-8)^{(-1)} - 7 =$$

$$6^{(-2)} - 8 =$$

$$(-7)^{(-1)} + 8 =$$

$$7^2 + 8 =$$

$$(-7)^{(-1)} + 5 =$$



名前: _____

日にち: _____ スコア: _____

$$(-7)^{(-2)} - 5 = \left(-\frac{244}{49}\right) = \left(-4\frac{48}{49}\right)$$

$$8^2 + 6 = 70$$

$$(-2)^0 + 2 = 3$$

$$(-6)^{(-1)} - 9 = \left(-\frac{55}{6}\right) = \left(-9\frac{1}{6}\right)$$

$$8^{(-1)} - 5 = \left(-\frac{39}{8}\right) = \left(-4\frac{7}{8}\right)$$

$$(-2)^{(-1)} + 1 = \frac{1}{2}$$

$$10 + (-10) = 0$$

$$(-7)^{(-2)} + 5 = \frac{246}{49} = 5\frac{1}{49}$$

$$2^{(-2)} + 6 = \frac{25}{4} = 6\frac{1}{4}$$

$$1^0 + (-2) = (-1)$$

$$(-5)^2 + (-9) = 16$$

$$6^{(-1)} + (-1) = \left(-\frac{5}{6}\right)$$

$$(-4)^{(-1)} - 2 = \left(-\frac{9}{4}\right) = \left(-2\frac{1}{4}\right)$$

$$(-9)^{(-2)} + 4 = \frac{325}{81} = 4\frac{1}{81}$$

$$(-8)^{(-2)} - 1 = \left(-\frac{63}{64}\right)$$

$$(-8)^{(-1)} - 7 = \left(-\frac{57}{8}\right) = \left(-7\frac{1}{8}\right)$$

$$6^{(-2)} - 8 = \left(-\frac{287}{36}\right) = \left(-7\frac{35}{36}\right)$$

$$(-7)^{(-1)} + 8 = \frac{55}{7} = 7\frac{6}{7}$$

$$7^2 + 8 = 57$$

$$(-7)^{(-1)} + 5 = \frac{34}{7} = 4\frac{6}{7}$$